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DIUIDING BY ONE-DIGIT

Divide. Some problems will have remoihders
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Think: Dividend
has two places.
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Divide divisor into
first place of
dividend.

Multiply answer.
Subtract product.
Compare: 0 <2
Bring down second
place of dividend.
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Divide divisor into
second place of
dividend.

Multiply answer.
Subtract product.
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Compare: 0 <2
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DIVISION OF WHOLE NUMBERS:

D-4

2-Digit Number by a 1-Digit.Number,
with No Regrouping or -Remainder
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Think: Divisor is not > first
place of dividend.

Divide.

Multiply.
Subtract.
Compare: 2<7

Bring down second place.
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Divide: (28 +~ 7 = 4)
Multiply.

Subtract.
Compare: 0 <7

No remainder.
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